Precalculus
4.3-4.4 Review

Name

Find the exact values of the six trigonometric functions of the angle theta shown in the figure.
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._List the three Pythagorean Identities.
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Sketch a right triangle corresponding to the trigonometric function of the acute angle theta. Find

the remaining five trigonometric functions of theta.
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Find the exact values of the missing variables - x, y, or r. e
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Draw a picture to represent the situation and then solve.

9. A 16-foot ladder is leading against a building. If 10. Michael is looking at the top of a mountain. It is

the ladder forms a 38° angle with the ground, 2,050 feet high. If Mike is 6 feet tall (eye level) and

determine how high the ladder meets the building. he is looking up at a 10° aam_n how far is he from the
mountain?
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Determine the value(s) of theta in degrees (0" <#< wo#o ) n:m radians (0<6<2r).
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Determine the reference angle 6'. Using the blank coordinate planes is optional.
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The point given is on the terminal side of an angle in standard position. Determine the exact
values of the six trigonometric functions on the angle.
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. ~ Use trigonometric identities to transform one side of the equation into the other (0<6<2rx)
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Evaluate the following trigonometric functions.
24,  cos(135°)
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